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ItemCode:1376

PCC TS Hex-4-ene-2-ol, ‘A’ B HNE F(| (NG ZECHTHTAGIZE-IF
U5 ([ oY A 2200 B TSI 14, (TORTAINE J2S BT B’
Question: 2RLD ‘C A3 IH| oG <6 231

A 2.(oIGw

B N IAGREG

C L f3EMow

D 4 {312 (75-2-28
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AT (AP ROV FHNBL FIADIG [APIACHT T 0E (90
Question: ATT*NIH| FOH FAIG =234 -

A 1) SOCl, (i) KON (iif) Hy/Ni. Na(Hg)/C,H;OH
B i) HCI (i) H,/Ni. Na(Hg)/C,H:OH
C 1) SOCI, (if) KON (iii) CH;NH,



D i) HCI (i) CH;NH,
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QYT (ATCHT STSRIG (B AEbe S90ag 9=
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_~CN
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QWNANHCH

Question:

A GG
B (eIlG

C forwfeiw
D (HUEEA
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B0 T3 THTF (o741 S A=HTY [T08d (SRR S0 14T ATS T
51l

Question: | VEIET S (BTN FICIAAT 32 =T TAES ABTS A,

A Cu”

B
C Ba’”
D
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300 K OIHIATH 2015 A A9 3.0 g VAT @lﬁ?\ﬂ TS, 200 K STl
8 P2 BICH 0.2 g A5G H @ﬁﬂb\ﬂ TSI N S5 A-L9
CTATT ©F g mol™|

Question: [217T® : TIETGITGIH (H,) ST (AR 1 2.0 g mol ]
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15 S8FT 1 litre T 298 K BINIATT x AT CO, FIAGS BF CTGIGE (ot
il
X= x 1073 g
[2WS - 298 K O NIETH CO,-A7 W BI¥ = 0.835 bar
298 K OINTATY CO,- A9 (XAIH 3G I = 1.67 kbar.
Question: H. C 43¢ 0-4F AN OF TN 1, 12, 4926 g mol ']
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ItemCode:1383
PCI -4d FQL?H'G{"J f"iliPEJFPC {g)(—PClﬂ HH Clq(g)

200 litre SO JHI6 ATCA 600 K SITNIATH 2 (T N,-£Id AR 5 T
PCl; A4 el ZXTF STAE] BT 2.46 atml I8 G PCI; [RUMG [fmarg
RN EEE SRR O <107,

Question: (1S : R =0.082 L atm K~ mol™; Assume ideal gas behaviour]
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ItemCode:1384
0.01M KC1 B HITg J97 IS5 AAZST (FITIT 208 K SINTATT ({14
1750 © 1 9 83 (SITF A= O10.152 % 10> S em™! T

B 42 ARQM=RS! (FIF (FE PP 1 x 10 3em™.
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ItemCode:1385
200 mL AT 0.2 M SIGE WS 0.6 ¢ AT FHFTA N0y
ATHICATR e SR (<Y SO WS 515 0.1 Ml & 51
Question: PN NETHS TGS WG Srad R gl
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QITRI3G. (b) S, () fOrm (@0 4= (d) T ANEAR6IMS T
[ i i )
Question: THIFT® U VGI&(eTH PO AAFIRG [GGIH?
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WIHS FIET WHING (VI) SOTNATS! [ s/ oifEs 730
Question: QP [ﬁia SN GIA 7R 1T |
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QN fors IF0 (G (F9E 0.2 ¢ AR 04T NRIGIGTE AfK30e
[T 1 21, 220S RGO N,-I7 SIS 22,400 mL (NTP STE[H)|

CTHIBT® RGOS *rolesf | [RFBeN Ff5igam]

(M8 : N,-4d( AT o 28 g mol !, Molar volume of N at STP: 22.4L]
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Cl

/j/‘\\ NaOH P Y[~ B A
H;0  (Major Product)

ST (ARG A6 $4 &AW P'—(® IO T SR HIF AT
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AN TR TR Sl ST a0 (AHNCIRG THAD
Question: oo



